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1R 21&DURODQ 3DUN LV DQ H[FHOOHQW EHGURRP
ORYHO\ HOHYDWHG VLWH ZLWK ZDOOHG LQ IURQW JI
SURSHUW\ LV ZHOO SUHVHQWHG DQG FRXOG EH RFF






VT IW %HGURR

,1752'8&7,21

7KH SURSHUW\ LV VSDFLRXV LQW
6LWWLQJ 5RRP WR WKH IURQW D

$FFRPPRGDWLRQ LQFOXGHV (QW
.LWFKHQ 'LQLQJ 6KRZHU 5RRP
%DWKURRP

,GHDOO\ ORFDWHG LQ 2 &DUROD!
IURP 1REEHU 9LOODJH 1REEHU L
B3ULPDU\ 6HFRQGDU\ 6FKRROV ¢
DUUD\ RI VSRUWLQJ IDFLOLWLHYV
JUHDWO\ IURP WKH EHDXWLIXO J
DQ LGHDO SODFH IRU IDPLOLHYV .
DPHQLWLHY RQ WKH GRRU VWHS

)
$+ 2LO ILUHG FHQWUDO KHDWLQJ
+ :HOO SUHVHQWHG WKURXJKR X\
+ :DOOHG LQ IURQW JDUGHQ

+ (QFORVHG EDFN JDUGHQ

+ *DUGHQ VKHG

+ *UHHQ WR WKH VLGH

+ 39& GRXEOH JOD]HG ZLQGRZV

%DWKUR

),; 785(6 ), 77,1*6

$00 IORRULQJ FXUWDLQV EOLGQ
DSSOLDQFHY DUH LQFOXGHG LQ

",5(&7,216

JURP 'XEOLQ WUDYHO RXW WKH
-XQFWLRQ 1DYDQ 1RUWK $W W
UG H[LW $W WKH QH[W URXQGD
QH[W URXQGDERXW WDNH WKH
URXQGDERXW WDNH WKH QG HI[L\
*R VWUDLJKW WKURXJK WKH QHJ
QH[W WUDIILF OLJKW )LUH VWDV
$W WKH QH[W WUDIILF OLJKW JR
URXQGDERXW 5RXQG 2 3XE RQ W
OHIW IRU .LQJVFRXUW 7UDYHO W
1REEHU $IWHU WKH &KXUFK WXU
27&DURODQ 3DUN 7KH SURSHUW
DKHDG DQG LGHQWLILHG E\ RXU
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